
Name Urchin Sampling Activity

Just like Paul and his colleagues were sampling the reef, now it’s your turn to collect data on the 
urchin densities in five different reefs.

Scientists use a square called a quadrat to count organisms of interest in an area. They can then 
extrapolate to make predictions about the broader densities of that organism over the area of the 
reef.

 1. Look at the reef worksheets. On each reef the total grid is 50 by 40 squares. How many total  
squares are over the entire reef?

wide

2. If each square is 20cm long, how big is the reef area?

long

3. What is the total area of the reef?  *make sure to include units*

squares

4. Rather than counting all the urchins in the area, you have been tasked to count 10%. How 
much area will you need to sample?

5. How many 100cm x 100cm quadrats  (5 by 5 squares) would you need to count?

https://docs.google.com/presentation/d/1zPHp57Bq42XjSZQrNjpo4CqWppvdotss3IimyFbBbQo/edit?usp=sharing


 





https://www.gigacalculator.com/randomizers/random-alphanumeric-generator.php


Make sure characters A-H and 0-
9 and listed
Choose string length 2
Tick output in uppercase and
unique characters in string. 
Generate a string of characters
Only use combinations of letters
and numbers. ie. D5 and 1B,
disregard any combinations of
numbers or letters.
Fill out the data table and make
estimates for each reef.1
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